Add/Subtract Integers

1.7+(-2)= 5 21.6-(3-7)=_10
=7-2 2 - (~4) T bty
2.-8+16=_38 22.6 - (-1)=13
3.20-13=_T 23.9+ (=1)=-2
4. -8+(-2)= ~\U 24, -4+ |2 =8
:-%.—'Z '

5 .12 -18= ~b 25.3- b =-9
6. (-7)+ (7= 1

=z = -*,

7.2-7=_"1

8.0+ (-36)= -3b
= 0-3p

9.29-33:=_~4

10. 17 - (-6) = _23

=\ T+b
11. -4+ (-8)+15=

= -4-345 = -1215 =3
12. -3-(-2)==}

=-3 42
13. 5+ (-12)+23=_b
= -5-12423
14. 4-6:= ~(0O

15. (-12) - (-18) = 6

~-(2+$
16. —5_— (-5)=_D
-~5 *“7/
17. (11 - 4) = ~1]
= {79

18.8_-6+1-7=_—F
T 2 417 = 37:4

19 - 7+24 -5= \Z.
= |177-5

20.8-(2+7)=_—|
= 93-(9)



For each of these statements, tell whether the answer will be definitely positive, negative or
dependent (on the size of the numbers). Give 2 examples to support your answer for each
question,

26. A positive plus a positive = @ ?  27. A positive minus a positive = ergndS ?
24 (£3) =5 ~(+2) = 3
| * (+3)= 4 b~ ( )=_
5-(+9)= -3

28. A positive plus a negative = deppnds > 29, A positive minus a negative = @ 2
5+(G-7)= -2 (5-—(_2): b+t2= %
5+(3)= 2 b ~H)z 1ty =5

30. A negative plus a positive = &Eei’dﬂ ?  31. A negative plus a negative = © ?

“3+(+1) = -2 34C1)= -377= 110
-3 N ’l+('2):‘i-2:-—5
TS

32. A negative minus a positive = = ?  33. A negative minus a negative = Akpﬁ@gjg} ?
~5-(+3)= -53:-3 "3-(-2)z -3+2= -
"5 -(+6)= ~5-G =) =§-(-10)= ~3+10= 2

34. Explain what you are thinking to do a question such as —8 + 3
i ow‘e$9’, pay back $3.SH/ owe ¢5

or _g‘

35. Explain what you are thinking to do a question such as —8 — 3
L borrow $8 and Len  borrow) a notho—~
$3 so inplal I owe ¢ or !

36. Explain what you are thinking to do a question such as —8§ — (=3) =
éhc#qga - ity @ - g+3 = =i
(Qq e as H34)



